Short Answers    Chapter 6 Newton’s 3rd Law of Motion – Action and Reaction

Review Questions ideas  83

1.
Yes; yes; two forces in one interaction

2.
Same, because both are part of one interaction

3.
The floor pushes you as you push the floor.

4.
Reaction is water pushing you forward.

5.
Reaction is arrow acting on bowstring.

6.
The acceleration is too small due to world’s large mass.

7.
Same; acceleration is large for bullet, small for rifle.

8.
Rocket is propelled by reaction force of gas.

9.
One; one; yes; yes

10.
No; yes

11.
Yes; no, they remain together

12.
a.
Two: P and f
b.
P – f

13.
a.
Two: P and F
b.
F – P
c.
Two: F and P

14.
a.
Two: F and f
b.
F – f


15.
So net force on it will exceed zero.

16.
200 N

17.
It cannot exert 200 N on you.

18.
Getting and giving similar to an interaction

Think and Explain   84

1.
Your body pulling up on the earth

2.
Reaction force is in opposite direction

3.
Exert greater force on carpet for reaction

4.
Yes, negligibly because of earth’s mass

5.
Sink pushes you upward; pulls you downward

6.
Reaction of ground on her; only gravity

7.
1000 N exerted by the satellite on the earth

8.
It is, but negligibly due to earth’s huge mass

9.
Same force; bike, greater acceleration

10.
Same; less than that of bug

11.
Exhaust exerts reaction force on rocket

12.
No. Only F, not –F, acts on bullet.

13.
200 N; yes; no, reaction is refrigerator pushing on you

14.
50 N; as if the pulls were horizontal

15.
same; double

